

$$\left(\frac{D}{7} + B \right) - A = - \left(\frac{B}{7} + A \right) \quad \text{or} \quad \left(\frac{D}{7} + B \right) - A = - \left(\frac{B}{7} + A \right)$$

7)d(()Tj 28Tϕ ()Tj)0)7ϕdϕ.Tjϕj(ϕ2πϕ2(7ϕ) Tj 66ϕ85ϕ.Tj9ϕ2 (Tj
 Tϕ ϕ TjTj6.462 00 Tϕd (()Tj 23.7ϕ6 00 πϕ8.9ϕTρ 3d48)σjTϕ (ϕE)Tj (6) 8j ϕ
 ' + (# . 60); < E 9. (() (*
 # # 2 3 ,

O))
+ +

O 1
((7 OD, @ *

O))
+ +

! ;

<7: / ! 7 , J*

O))
+ +

(() 7 @ J*

%#""# 6 !) ! *

<9<

O) ()) " " *

+ +

@ () ()) =) () (*@ () ()) ((; =>

) (*@ () ()) ((; =>) (*

O)) (() ((< =) ((? *O)) ((

() (()) (? *O)) (()) ((

@A) (? *

' +

O)) (()) (-

*3. 48 O Td (-) Tj O Td () T

